© Pody parts

Tick the correct option.
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[ Jeye
(] hand
[ Jear

[ ] mouth
[ Jear

[ ] nose

[ ] face
L] hair
[ Jeye

[ ] teeth
[ Jear
I mouth

[ ] nose
(] chin
[ ] face

Jhand
CJarm
[ Jknee
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L]

(] mouth
(] hair
[ Jear

] hair
(] face

CJarm

[ ] foot
[ ] mouth
(] hand

[ ] neck
(] hand
(] face

(] face
[ teeth
[ ] tongue

[ Jeyebrows

[Jeye
[ hair
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(] nose
(] foot

> [ ] teeth

L Jarm
[ 1hand
(1 hair

(] mouth
(] hand
(] teeth

[ Jhand
(] fingers
[ Jelbow

(] fingers
[ ] foot

CJarm

(] hand
[ ]toes
(] teeth
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